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O e e . urllib Python 3t
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http://finance.yahoo.com/q/cp?s=%5EDJI+Componen

- ol

)[4 httpe//finance.yahoo.com/q/cp?s=9%5EDJI + Components o~ | s
~DJI Components | Dow ... < | |
M Home Mail News Sports Finance Weather Games Groups Answers Screen Flickr Mobile More ~
~
4 Search Finance Search Web Sign In = Mail Q
FINANCE
Finance Home My Portfolio Market Data Yahoo Originals Business & Finance Personal Finance CNBC Contributors

Enter Symbol

Dow %0.76% Nasdaq %0.69%

More On

QUOTES
Summary
» Components

Historical Prices
CHARTS

Interactive

Basic Chart

Basic Tech. Analysis
NEWS & INFO
Headlines

sed  Reportan Issue

Dow Jones Industrial Average (*DJI) - |

16,805.41 +127.51(0.76%) oc24

¥ Watchlist

Beat the market

Get the app

Components

Get Components for:

AIJAIBICIDIGIHIIIJIKIMINIPITIUIVIWIX
1-30 of 30 | First | Previous | Next | Last
Components for ADJI
Symbol | Name Last Trade Change Volume
AXP | American Express Company 86.40 Oct24 | 079 (0.92%) | 3,607,992
BA | The Boeing Company 122240ct24 | 10.21(017%) | 4.016.436
cat Caterpillar Inc. 99.440ct24 | 10.17 (0.17%; 4,133,823
CSCO | Cisco Systems, Inc. 23.78 Oct 24 1022 :0,91%; | 19,947,265 Sales Sta.rt
cvx Chevron Corporation 11591 0ct24 | 20.28 (0.24%) 5508970 | today with
DD E. I. du Pont de Nemours and Company 69.00 Oct24 | +0.41 (0.60%) 4,542,828 Yahoo Stores.
DIS | The Walt Disney Company 88.61 Oct 24 +0.62(0.70%) | 4.937.482
GE General Electric Company 2564 0ct24 | +0.20(0.79%) | 20,563,914
Gs | The Goldman Sachs Group, Inc. 183.350ct24 | +3.29 (1.83%) 2,900,871
HD The Home Depot. Inc. 94.99 0ct24 | 40.19 (0.20%) 4825237
IBM International Business Machines Corporation 162.08 Oct24 | 30.10 (0.06%) 6,652,379
INTC | Intel Corporation 33.180ct24 | 10.49 (1.50%) | 27.814,900



http://finance.yahoo.com/q/cp?s=^DJI+Componen

FlRurllibEE3ZRElyahoo 12 20

# Filename: dji.py

import urllib import re

dBytes =
urllib.request.urlopen('http://finance.yahoo.com/q/cp?s=%5EDJI+Components').read()
dStr = dBytes.decode('GBK')

#7E python3H urllib.read()iR [BlbytesXt R 1 JEstr, 5 H)ThEE B X dBytestE# i, Str

m = re.findall('<tr><td class="yfnc_tabledatal"><b><a href=".*?">(.*?)</a></b></td><td
class="yfnc_tabledatal">(.*?)</td>.*?<b>(.*?)</b>.*?</tr>', dStr)

if m:
print(m)
print ('\n‘)
print(len(m))
else:
print( 'not match?)
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http://finance.yahoo.com/q/cp?s=^DJI+Components').read()
http://finance.yahoo.com/q/cp?s=^DJI+Components').read()
http://finance.yahoo.com/q/cp?s=^DJI+Components').read()
http://finance.yahoo.com/q/cp?s=^DJI+Components').read()

iR
. BRSIEHE (d))

— 'AXP’, 'American Express Company’, '86.40' e

Nokia Corpor ation

— 'BA’, 'The Boeing Company', '122.24'
— 'CAT', 'Caterpillar Inc.", '99.44"
— 'CSCO', 'Cisco Systems, Inc.’, '23.78' 44 |
— 'CVX', 'Chevron Corporation', '115.91" f,,_,,,,
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# Filename: quotes.py

from matplotlib.finance import quotes_historical _yahoo
_ochl

from datetime import date

import pandas as pd

today = date.today()

start = (today.year-1, today.month, today.day)

guotes = quotes_historical_yahoo ochl( , start, today)
df = pd.DataFrame(quotes)
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quotesfIAR - \
2%

(5] 1 2 3 4 5

@ 735187 2.137528 8l.91 82.365856 8l.454622 4439788
1 735198 81.954487 a8l.45 82.833882 8l.271946 Ile4d435a8a
2 735191 8l .498863 8l.57 8l.985467 8l1.382851 2775888
3 735192 82.862317 8l.36 82.517348 s8l1.873138 Islasaa
4 735193 8l1. 744151 83.85 83.8994564 gl.684795 4355288
5 735194 S3.819249 82.95 83.829141 82.475152 2698388
G 735197 83.4129485 83.68 83.848171 83.1754806 Ias77aa
7 735198 83.833676 ad4.17 a4 .664594 g3.7584217 453960588
e 735199 &4 . 343547 ad.67 ad . 739248 &84 .8566557 2528888
a 735281 &84 .959142 a4 . 88 85.265818 84 .593118a 2144686
la 735284 55.892126 a4 .37 85.596624 &84.241482 Ig2adiaa
11 735285 83.976989 83.78 84.412256 83.294418 3546188
12 35286 83.3831235 83.59 ad.322831 82.857969 IsFa7aea
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N T E ST itk download() Pk — ek M, %5 T IERSEERESIINRE
R, FIRAEE M ( M. HEBEEERE
% BT 25 I 2 A Hipython H 3 fnltk_data\corpora T~ | ToEEERI R

>>> from hltk.corpus import gutenberg wes | 5061000 . BRiEIHERIEE

>>> import nltk o ERFEIRSIA
>>> print gutenberg.fileids() .
[u'austen-emma.txt', u'austen-persuasion.txt’, u'austen-sense.txt', u'bible-kjv.txt',
u'blake-poems.txt', u'bryant-stories.txt', u'burgess-busterbrown.txt', u'carroll-
alice.txt', u'chesterton-ball.txt', u'chesterton-brown.txt', u'chesterton-thursday.txt’,
u'edgeworth-parents.txt', u'melville-moby_dick.txt', u'milton-paradise.txt’,
u'shakespeare-caesar.txt', u'shakespeare-hamlet.txt', u'shakespeare-macbeth.txt’,
u'whitman-leaves.txt']

>>> texts = gutenberg.words('shakespeare-hamlet.txt')

[u'[', u'The', u'Tragedie’, u'of', u'Hamlet', u'by’, ...]
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# MNLTK Downloader

FEile Miew Sort Help

Identifier

conll2007

crubadan

dependency treebank
europarl_raw

floresta

framenet v15
gazetteers

genesis

| gutenberg
ieer

inaugural

indian

jeita

kimmo

knbc

lin thesaurus

Cancel |

Dependency Treebanks from CoNLL 2007 (Catalan ai
Crubadan Corpus

Dependency Parsed Treebank

Sample European Parliament Proceedings Parallel Cc
Portuguese Treebank

FrameMet 1.5

Gazeteer Lists

Genesis Corpus

MNIST IE-ER DATA SAMPLE

C-Span Inaugural Address Caorpus

Indian Language POS-Tagged Corpus

JEITA Public Morphologically Tagged Corpus (in Cha
PC-KIMMO Data Files

KMNB Corpus (Annotated blog corpus)

Lin's Dependency Thesaurus

1.2 ME
5.0 MB
446.7 KB
12.0 MB
1.8 MB

86.1 MB
8.1 KB

462.1 KB

Project Gutenberg Selections m

162.3 KB
313.8 KB
194.6 KB
15.8 MB
182.6 KB
84 ME

85.0 MB

not installed
not installed
not installed
not installed
not installed
not installed
not installed
not installed
not installed
not installed
not installed
not installed
not installed
not installed

not installed
Refresh

Server Index: |http ://www.nltk.org/nltk data/

Download Directory: |C :\Users\Lily\AppData‘\Roaminginltk data

Downloading package 'gutenberg’
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# Filename: quotesproc.py

matplotlib.finance
guotes_historical _yahoo ochl

datetime date

pandas a5 pd

today = date.today()
start = (today.year-1, today.month, today.day)
qguotes = quotes_historical_yahoo ochl( , start, today)
fields = , , , , , ]
quotesdf = pd.DataFrame(quotes, columns = fields)

guotesdf
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WD @

a
735198
735191
735192
733193
735194
735197
735198
735199
735281
735284
735285
735286
735287
735288
735211
733212
735213
735214
735215
735218
733219
733228
735221
735222
735225
735226

1

. 954487
498863
. 862317
L 744151
819249
.412985
.833676
. 343547
.959142
.8921286
976989
.383123
. 362986
. 663688
. 245494
.459829
. 365197
.874814
423872
. 856829
. 793589
.388278
. 815858
L779231
.B53335
.383788

3

.BB3882
. 985467
.517348
.899464
.829141
.848171
. 6645094
. 739248
. 265818
.596624
412256
.322831
.B75156
. 158268
473826
.815146
. 751813
.3659412
.B17419
.B55155
. 883488
. 188594
.598788
.B37746
.B27895
. 779459

a

. 271946
.382851
.B873138
. 684795
475152
. 175486
L 784217
.BBBE557
.593118@
241482
294418
.857969
. 244798
LA268277
L434292
.182285
. 918965
.318972
. 334848
. 856829
.B81298
. 646389
.985381
.512138
.993988
.235412

5
3led5a8
2775868
351a588
4355208
2698300
3657788
4896568
2526668
2144668
36208800
3546108
3579788
3677888
2666688
2436508
2354208
3782300
3574388
35949068
3599868
2893708
5332380
3956388
6204568
3242688
1842788



djigdz: mEt
=

quotesFE: M
==

Recommend

KICERER A

AHEEEIE
I O

BA
CAT

XOM

735190.0
735191.0
735192.0

735551.0



1.2, fEAEE

TR

guotesdf = pd.DataFrame(quotes, columns = fields)

quotesdf = pd.DataFrame(quotes, index = range(1,len(quotes)+1),columns = fields)
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date
F3Isl1ae
735191
F3s192
735193
735194

date
FIs196
FE519l1
FI5192
FI5193
735194

a81.

81

81

a81.

81

open
Q54487

L A9BE63
82.

Be2317

. 744151
83.

Bl1az249

ocpen
954487

LA988683
82.
a81.
83.

Be2317
44151
gloz49

close

81

.45
81.
a8l.
83.
82.

=
36
B85
95

close

81

A5
a81.
a81.
83.
82.

=
36
B85
a5

a82.
81.
a2.
83.
83.

82.
a81.
82.
83.
83.

high
BE3882
985467
S17 548
Bo9454
829141

high
B83882
Q85457
S17346
Bo946564
829141

81

a8l

a2

a8l.
81.

81

82

loww

271945
81.

Ig2esl

.B73138
a8l.

584795

LAT5152

Lo
271945
382651

LBF73138
81.

584795

LATS1S2

volume
I1aA5868
2775806
Islasae
AI552686
2698388

wvolume
31848586
2775886
3518586
A3552686
2606 365




L

2813-11-18
2813-11-19
2813-11-2&
2813-11-21
2813-11-22
2813-11-25
2813-11-26
2813-11-27
2813-11-29
2813-12-82
2813-12-83
2813-12-284
2813-12-85
2813-12-86
2813-12-89
28l3-12-1@
2813-12-11
2813-12-12
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81.
B1.
B2.
81.
83.
B83.
83.
B4,
84,
85.
B3.
83.
B3.
34,
85.
84,
B4,
B82.

open
954487
498863
862317
744151
219249
412985
833676
343547
959142
892126
9763989
3@3123
362986
663688
245494
459829
365197
874814

close

BL.
B1.
BL.
B83.
B2.
B83.
84.
B4,
84.
84,
B83.
83.
B83.
B85.
B4,
84.
B83.
82.

45
57
36
B5
a5
68
17
&7
88
37
7a
59
63
Ba
83
37
Ba
4@

82,
81.
82.
a83.
83.
a3.
a4,
o4,
85.
85.
84,
o4,
84,
85,
85.
a4,
o4,
83.

high
BE3882
985467
517348
899454
829141
848171
664594
739248
265818
S95524
412256
322831
B75156
158268
473826
815146
751813
369412

BL.
B81.
BL.
B1.
B2.
B83.
83.
B4,
84.
B4,
B3.
B2.
B3.
B4,
B4,
54.
B2.
B2.

TR

low
271946
382851
B73138
684795
475152
1754536
784217
BB6557
59311e
241452
294418
857050
244798
426277
434292
162265
918965
31e972

volume
Iled506
2775888
351a5ee
43552868
2698380
3657788
4396388
2528888
2144686
IE283006
3546188
3579708
3677888
2666600
2436588
2354286
3782388
3574388

>>> datetime date

>>> firstday = date.fromordinal(735190)
>>> |astday = date.fromordinal(735551)
>>> firstday

datetime.date(2013, 11, 18)

>>> |astday

datetime.date(2014, 11, 14)
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# Filename: quotesproc.py

matplotlib.finance qguotes_historical_yahoo ochl
datetime date
datetime datetime

pandas =5 pd

today = date.today()

start = (today.year-1, today.month, today.day)

qguotes = quotes_historical_yahoo ochl( , start, today)
fields = [ , , , , , ]

ist1= /—\ LR PN S ALY TE]

range(0,len(quotes)):

x = date.fromordinal(int(quotes[i][0])) A RN [E TEAR T
y = datetime.strftime(x, )

listl.append(y)
quotesdf = pd.DataFrame(quotes, index = list1, columns = fields)

quotesdf = quotesdf.drop([ ], axis = 1)
quotesdf MipRERdate’
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>>> import pandas as pd
>>> dates = pd.date_range('20141001', periods=7)
>>> dates
<class 'pandas.tseries.index.Datetimelndex'>
[2014-10-01, ..., 2014-10-07]
Length: 7, Freq: D, Timezone: None
>>> import numpy as np
>>> dates = pd.DataFrame(np.random.randn(7,3),index=dates,columns = list('ABC'))
>>> dates

A B C
2014-10-01 1.302600-1.214708 1.411628
2014-10-02-0.512343 2.277474 0.403811
2014-10-03 -0.788498 -0.217161 0.173284
2014-10-04 1.042167 -0.453329-2.107163
2014-10-05-1.628075 1.663377 0.943582
2014-10-06 -0.091034 0.335884 2.455431
2014-10-07 -0.679055 -0.865973 0.246970
[7 rows x 3 columns]
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HEE

a Ci)d(s American Express Cm;:r:; 13515‘;;?:? 'IJPEFI C]'OSE high 10“ \I"O].UITIE
1 oA The bocing Company  128.86 2813-11-18 81.954487 81.45 82.883082 81.271946 3104300
3 csco Cisco Syoteme, Inc. 26 30 2013-11-19 81.498863 81.57 B81.985467 81.382051 2775000
4 WX Ch i ti 116.32

: vx C. 1. du Pont de mmeanon Corporation 16.32 2813-11-2@0 82.862317 81.36 B82.517348 81.873138 3510500
s  bIs The ialt Disney Company s0. 80 2013-11-21 81.744151 83.85 83.899464 81.634795 4355200
I = The Gotdman sorne breupomY iees 2013-11-22 83.019249 82.95 83.829141 B82.475152 2698300
o HD ) ) The Home Depot, Inc. 98.24 2813-11-25 83.412985 B83.68 B83.848171 83.175486 3657700
1& IBM International Business Machines Corporation 164.16

11 1INTC Intel Corporation 33.05 2013-11-26 83.833676 B84.17 B54.664594 §3.784217 4896300
1z JMT Joh & 3 Joh las.16

2 Sl i B 2s.16 2813-11-27 84.343547 B84.67 B84.739248 B84.866557 2520000
12 ko The Coca-Cola Company 42.73 2013-11-29 54.959142 34.88 B85.265818 84.593118 2144600
To e e omary 198 58 2013-12-82 85.892126 84.37 85.596624 84.241482 3520300
17 MRK Merck &amp; Co. Inc. 59.087 2813-12-83 83.976989 83.7@ B84.412256 83.2944180 3546100
18 MSFT Microsoft Corporation 49.58

19 nke nike, Inc. o5.50 2013-12-64 83.303123 83.59 84.322031 82.857969 3579700
22 Pl The Procter Zamp; Gamble Company Sy 2013-12-85 §3.362986 83.63 84.875156 83.244198 3677500
22T e temveren. JTEEERST, Inc.  35.90 2013-12-86 54.66368@ 85.8@ B85.158268 84.426277 2666600
e UnitedHeolih Group Tmeorporated as 11 2013-12-89 85.245494 84.83 85.473826 84.434292 2436500
25 uTX united Technologies Corporation  167.45 2013-12-18 54.459829 B84.37 B84.815146 84.162265 2354200
27 vz Verizon Communications Inc. s1.58 2813-12-11 84.365197 83.08 B84.751013 82.918965 3732300
28 WaMT Wal-Mart St I . 82.96

28 xom Exxon Mobil Corporation e 2913-12-12 82.874814 B82.4@ B83.369412 B2.318972 3574300

djidf quotesdf
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HEE

E — L]
M.IL/_.RTU_:_EE . >>> djidf.index
« BRZED| Int64Index([0, 1,2, 3,4, 5,6, 7,8,9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20,
ME7INA 21,22, 23, 24, 25, 26, 27, 28, 29], dtype='int64')
— >>> djidf.columns
- BRI ‘

Index([u'code’, u'name’, u'lasttrade'], dtype='object')

e Hl—_—3% 3 >>> dijdf.values
NLZRS&}EEIME array([['AXP', 'American Express Company', '90.67'],

o Eﬁéﬁ)ﬁ}ﬁiﬁ ['BA', 'The Boeing Company','128.86'],
['XOM', 'Exxon Mobil Corporation', '95.09']], dtype=object)

>>> djidf.describe

<bound method DataFrame.describe of code name lasttrade
0 AXP American Express Company 90.67
1 BA The Boeing Company 128.86
29 XOM Exxon Mobil Corporation 95.09
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CO

SOUTCE

>>> quotesdf.index

Index([u'2013-11-18', u'2013-11-19', u'2013-11-20',
u'2013-11-21',

u'2013-11-22', u'2013-11-25', u'2013-11-26', u'2013-
11-27',

-04-08', u'2014-04-09', u'2014-04-10', u'2014-04-11',

o
dtype='object')
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HEE

s> djidfhead(s)— |

code name lasttrade
0 AXP American Express Company 90.67
1 BA The Boeing Company 128.86
2 CAT Caterpillarinc. 101.34
3 CSCO Cisco Systems, Inc.  26.32
4 CVX Chevron Corporation 116.32
[5 rows x 3 columns]
S>> djidftail(s) — |
code name lasttrade
25 UTX United Technologies Corporation 107.45
26 Y, Visalnc.  248.84
27 VZ Verizon Communications Inc. 51.50
28 WMT Wal-Mart Stores Inc. 82.96
29 XOM Exxon Mobil Corporation 95.09

[5 rows x 3 columns]
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cade

8 AXP
1 BA
2 CAT
3 CsC0
4 VX
5 DD
6 DIS
7 GE
8 Gs
a9 HD
1@  IBM
11 INTC
12 IND
13 IPM
14 KO
15  MCD
16 MMM
17 MRK
18 MSFT
19 NKE
28 PFE
21 PG
22 T
23 TRV
24 UNH
25 UTX
26 v
27 vz
28 WMT
29 xOM
Recommend

KICERER A

SHEEF

name lasttrade

American Express Company

The Boeing Company
Caterpillar Inc.

Cisco Systems, Inc.

Chevron Corporation

du Pont de Memocurs and Company
The Walt Disney Company
General Electric Company

The Goldman Sachs Group, Inc.
The Home Depot, Inc.
Internaticnal Business Machines Corporation
Intel Corporation

Johnson &amp; Johnson

JPMorgan Chase Zamp; Co.

The Cocca-Cocla Company

McDonald's Corp.

3M Company

Merck &amp; Co. Inc.

Microsoft Corporation

Nike, Inc.

Pfizer Inc.

The Procter &amp; Gamble Company

AT&amp;T, Inc.

The Travelers Companies, Inc.

UnitedHealth Group Incorporated

United Technologies Corporation

Visa Inc.

Verizon Communications Inc.

Wal-Mart Stores Inc.

Exxon Mobil Corporation

E. I.

9@.
128.
lael.

26.
116.

7a.

9@.
.48
189.

98.
164.

33.
188.

6e.

42,

96.
158.

59.

49,

a5,

3@.

88.

35.
435
95,
.45
248.

51.

82.

95,

28

1@z

187

a7
86
34
32
32
falc]
f1c]

a8
24
16
a5
16
28
73
21
85
a7
58
5@
34
11
98

11

84
5@
96
a9

TEERI:
o JEERT
vz =]
- JEEEXIE

/%fr\

ik

281=2-11-18
2812-11-19
2813-11-26
2815-11-21
2813-11-22
2813-11-25
28132-11-26
2812-11-27
2813-11-29
2813-12-a2
2813-12-a3
2813-12-a4
2813-12-a5
281z2-12-a5
2813-12-a9
2813-12-18
28153-12-11
20813-12-12

open

. 954487
LA0B863
LB52317
L FA415]
. 819249
»412985
. 833676
. 343547
.959142
LB92126
L978989
L SB31L2S
. 362986
. 663688
. 245494
LA59829
. 365197
. 8748514

(k%)

high

.@333a882
-985457
-S1T7 S48
Lagad45d
LB829141
L B8481L71L
-.654594
- 739248
- 265818
-.596624
-A12256
» 322831
-@a75156
158268
-ATIB2E
-815146
L7518l
- 369412

low

L 2719486
. 382851
.B73I138
. B84795
. 475152
. L7 5486
. 784217
. BE5557
.593118
L 241482
L 294478
. 837969
. 2447198
LA26277
. 434292
162265
. 918955
. 318972

wolume
SIladsaa
2775888
351laseE
45355268
2698388
SesT7ea
4595508
2528888
21496565
Se2esaa
S546l1eE
IST7aVes
3677888
2666688
2436588
2354288
S782308
So74SeE
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BIEEIR

>>> quotesdf[u'2013-12-02u'2013-12-06']

open
2013-12-02 85.092126
2013-12-03 83.976989
2013-12-04 83.303123
2013-12-05 83.362906
2013-12-06 84.663680

[5 rows x 5 columns]

close high low volume
84.37 85.596624 84.241402 3620800
83.70 84.412256 83.294410 3546100
83.59 84.322031 82.857969 3579700
83.63 84.075156 83.244198 3677800
85.00 85.158268 84.426277 2666600




SHEIEF

7 T Tl A/ Ged
07 >>> djidf['code’]
& s 2> djefl
1 BA
. . 2 CAT
TG
. 29 XOM
. 15'_E§|::z|=§|_] Name: code, dtype: object
>>> djidf.code
- 5& 0 AXP
1 BA "
2 CAT A=HF
djidf['code’, 'lasttrade’]
29 XOM o rer e .
Name: code, dtype: object djidf['code’:lasttrade’]

Recommend
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EE1ES898%
@ =ERLIKMAB
RIS FE
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EEES I
- 17. %
— Fr&label (loc)

7 BEIREr T lpg
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SHEIEF

>>> djidf.loc[1:5,]

code name lasttrade
1 BA The Boeing Company  128.86
2 CAT Caterpillarinc.  101.34
3 CSCO Cisco Systemes, Inc. 26.32
4 CVX Chevron Corporation 116.32

5 DD E. I. du Pont de Nemours and Company 70.80
[5 rows x 3 columns]
>>> djidf.loc[:,['code’, lasttrade’]]
code lasttrade
0 AXP 90.67
1 BA 128.86
2 CAT 101.34

29 XOM 95.09
[30 rows x 2 columns]




1EI5H TR iR
7 SE1250REN
@ PBiso—IRZS

MRS ETHRE

HIERIE—IRAZ S ?

eI
« {TA0FURIX 1

— fr&label (loc)
- BNME

— at
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i

>>> djidf.loc[1:5,['code’, lasttrade]]
code lasttrade

1 BA  128.86
2 CAT 101.34
3 CSCO 26.32
4 CvX 116.32
5 DD 70.80

[5 rows x 2 columns]

>>> djidf.loc[1, lasttrade’]
'128.86°

>>> djidf.at[1, [asttrade’]
'128.86'




SHEIEF

\ 2 > .
AT >>> djidf.loc[1:5,] , 1l
code lasttrade >>> dji
- . jidf.loc[1,
. |F0X 1= 1 BA 128386 , |
7. SUANXEL 2 CAT 101.34 128.86
. s 3 CSCO  26.32 >>> djidf.at[1,
- Riloc (i 4 cyx 11632 '128.86'
_ 5 DD  70.80
H)
- HEME >>> djidf.iloc[1:6,[0,2]]
. 1 Cogi Iaslt;rgagg >>> djidf.iloc[1,2]
- lat 2 CAT 101.34 '128.86°
3 CSCO 26.32 >>> djidf.iat[1,2]
4 CVX 116.32 '128.86

5 DD 70.80
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SR

EEZELNE]
20'] 4&5’\]}3 =5 | >>> quotesdf[quotesdf.iindex >= 1'2014-01-01"]
H open close high low volume
O ':"L" L\_f/ 2014-01-02 89.924438 88.49 90.102506 88.420751 5112000
SHKEEIE 2014-01-03 88.186377 88.77 89.106325 87.671998 3888500

2\\5201433& 2014-01-06 88.730000 88.73 89.274052 88.413460 2844700

» o
BNMATEHET 2014-03-28 89.531554 89.72 90.811002 89.263763 3138900

Nhe2?
PHICH! [221 rows x 5 columns]
Jij::%fj—:—tt >>> quotesdf[(quotesdf.index >= 1'2014-01-01") & (quotesdf.close >= 95)]
open close high low volume
o {4k 2014-06-09 94.532820 95.02 95.328216 94.105295 3825200

2014-06-18 94.204662 95.01 95.039827 93.538518 2454800

2014-07-03 95.031492 95.29 95.389426 94.673558 1633800
[3 rows x 5 columns]
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RS SHE

SRIETHER TR
AR=ESE =N
7 P30RRRI >>> djidf.mean(columns = 'lasttrade’)
@ RARINEYFE lasttrade  91.533667
98? KRExA dtype: float64
— IR AN AT >>> djidf[djidf.lasttrade >= 120].name
ST 12009 5 1 The Boeing Company
&7 8 The Goldman Sachs Group, Inc.
' 10 International Business Machines Corporation
16 3M Company
26 Visa Inc.
Name: name, dtype: object
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RS SHE

S EEIEEL
BT —FRZ Ak >>> |en(quotesdf[quotesdf.close > quotesdf.open])
® FEDBIRIREL 131
>>> |len(quotesdf)-131
120
Fit=EzEA ’@ ot t closel)
- >>>"status = np.sign(np.diff(quotesdf.close
7 A —5FAERH >>> status
O %qﬁﬂﬂnﬁl\ﬁ’\lﬁlﬂ(ﬂg& array([1.,-1., 1.,-1.,, 1, 1,1, 1,-1.,-1,-1,, 1., 1,
1&? 1,-1.,-1.])
>>> status[np.where( status == 1.)].size
130
>>> status[np.where( status == -1.)].size
120

Recommend

KICERER A



HRERIT—IRAS
7 MXF30REIR ﬁ
@ Tl AR EEH

HERF. *E?EHFF%

ZEERS HBI=H

/NSIE=R

A] LS nsort() R 2L ) ascending
JE A /5 PR, R

1% )& PE=True, BIIGUTHES)
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DataFramelJsort() R & &

HES

AHELEAEH, A E DD Re
T# 1% Fsort_index() BRI %X

>>> djidf.sort(columns = "lasttrade’)

code name lasttrade
3 CSCO Cisco Systems, Inc. 26.32
7 GE General Electric Company 26.46
20 PFE Pfizer Inc. 30.34
11 INTC Intel Corporation 33.95
8 GS The Goldman Sachs Group, Inc.  189.98
26 Vv Visalnc. 248.84

[30 rows x 3 columns]

>>> djidf.sort(columns = 'lasttrade’)[27:].name

10 International Business Machines Corporation
8 The Goldman Sachs Group, Inc.
26 VisaInc.



vt

7 FE11 2014561 BIpRIRREAREXE

=

>>> t = quotesdf[(quotesdf.index >= "2014-01-01") & (quotesdf.index < '2014-02-01')]
>>>t
open close high low volume

2014-01-02 89.924438 88.49 90.102506 88.420751 5112000
2014-01-03 88.186377 88.77 89.106325 87.671998 3888500

2014-01-30 85.741393 85.91 86.267049 85.364508 4259000

2014-01-31 84.577859 84.32 85.202672 84.210906 4778000
[21 rows x 5 columns]

>>> |en(t)
21
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it

?

o Output:
10 23
# Filename: quotesmonth.py 7 22
time 12 21
9 21
listtemp =] 3 21
i in range(0,len(quotesdf)): 6 21
temp = time.strptime(quotesdf.index]i], > 21
listtemp.append(temp.tm_mon) 4 2
i 3 21
isttemp 1 71
tempdf = quotesdf.copy()
: 11 19
tempdf] ] = listtemp 2 19
tempdf][ ].value_counts() dtype: int64
Recommend
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GroupingHIllii7
@ Splitting

@ Applying

3 Combining

__________________________________________
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g

? Gt —EE A B HORR BT R
D

Output:
month
>>>"tempdf.groupby('month’).count() 1 21
open close high low volume month % %2
month N A
R R IR AL 4 21
1 21 21 21 21 21 21 EI/J |y th 5 21
2 19 19 19 19 19 19 - 6 21
3 21 21 21 21 21 21 7 22
8 21
10 23 23 23 23 23 23 5190 %
L 20 20 20 20 20 20 (TS| 5
P&, N HAEmonthFEE % 12 21
[12 rows x 6 columns] AR R 4 friopen Name: month,
>>> tempdf.groupby('month’).count().month dtype: int64
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g

7 GHE— A B R
H

>>> tempdf.groupby('month’).sum().volume

month
1 104874000

2 76173800
3 71488400
4 84786400

9 85341400

1P 167566360

67589400
Name: volume, dtype: float64

mean()
min()

max()
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g

i’ MEE SRS HE—EE N BIER R

>>>g = tempdf.groupby('month’)
>>> gvolume = g['volume']
>>> print gvolume.sum()

month
1 104874000

2 76173800
3 71488400

10 120822100

11 67906300
12 67589400
Name: volume, dtype: float64
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; Mergefifizt
 Append
. - N047%lDataFrame
* Concat
- EfZpandasiisR
* Join
- SQLEEEIRTERR

Recommend
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HEEEEEAE
7 2014FE181H
@ X=20145185

HIBHIRER S
sSREFERI—

FHFIRRAYRZ

EEEH?
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Append

>>>p = quotesdf[:2]
>>>p

open close high low volume
2013-11-18 81.954487 81.45 82.083082 81.271946 3104800

2013-11-19 81.490863 81.57 81.985467 81.382051 2775000
[2 rows x 5 columns]

>>> q = quotesdf[u'2014-01-01":0'2014-01-05"]
>>> (]

open close high low _volume
2014-01-02 89.924438 88 49 90.102506 88.420751 5112000
8.7

9

2014-01-03 88.186377 88.77 89.106325 87.671998 3888500
[2 rows x 5 columns]
>>> p.append(q)

open close high low volume
2013-11-18 81.954487 81.45 82.083082 81.271946 3104800
2013-11-19 81.490863 81.57 81.985467 81.382051 2775000
2014-01-02 89.924438 88.49 90.102506 88.420751 5112000
2014-01-03 88.186377 88.77 89.106325 87.671998 3888500
[4 rows x 5 columns]
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Concat

>>> pieces = [tempdf[:5], tempdf[len(tempdf)-5:]]
>>> pd.concat(pieces)
open close

2013-11-18
2013-11-19
2013-11-20
2013-11-21
2013-11-22
2014-11-11
2014-11-12
2014-11-13

2014-11-14
2014-11-17

81.954487
81.490863
82.062317
81.744151
83.019249
92.280000
91.160000
91.700000

91.070000
90.240000

[20 rows x 6 columns]

81.45
81.57
81.36
83.05
82.95
91.74
91.55
91.07

90.67
90.13

high
82.083082
81.985467
82.517340
83.099464
83.029141
92.590000
91.670000
91.700000

91.240000
90.260000

low
81.271946
81.382051
81.073138
81.684795
82.475152
91.490000
91.100000
90.940000

90.350000
89.650000

volume month

3104800
2775000
3510500
4355200
2690300
2719800
3825200
3637900

2361600
2620500

11
11
11
11
11
11
11
11
11
11




Concat

7 A EEBLELEA
RS SRS

join join_axes

names verify_integrity
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O

Source

>>> piecel = quotesdf[:3]
close  >>hpjece2 = tempdf[r3inth open volume

0 81.45 82.B33@hcencat({pierel,piece2]jigmare: inder4300

1 81.57 81.98B4€) 81.382051
2 81.36 82.517340 81.073138
3 81.45 82.083082 81.271946
4 81.57 81.985467 81.382051
5 81.36 82.517340 81.073138

[6 rows x 6 columns]

NaN 81.490863 2775000
NaN 82.062317 3510500
11 81.954487 3104800
11 81.490863 2775000
11 82.062317 3510500




Join

ose_Jrome | side
AXP

KO
_—
ENECNETE ©

AXP KO
AXP

KO

KO
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.

code|name|month|volumes
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W
W
W

[ T IR T IS TTI Sy

16

13
19
28
21
22
23
24
25
26
27
23
29

MCD
MMM
MRK
MSFT
NKE
PFE
PG
T
TRV
UNH
UTx
W
VZ
WMT
XoM

name
American Express Company

The Boeing Company

Caterpillar Inc.

Cisco Systems, Inc.

Chevron Corporation

E. I. du Pont de Nemours and Company
The Walt Disney Company

General Electric Company

The Goldman Sachs Group, Inc.
The Home Depot, Inc.
International Business Machines Corporation
Intel Corporation

Johnson &amp; Jchnson

JPMorgan Chase &amp; Co.

The Coca-Cola Company

McDonald's Corp.

3M Company

Merck &amp; Co. Inc.

Microsoft Corporation

Nike, Inc.

Pfizer Inc.

The Procter &amp; Gamble Company
AT&amp;T, Inc.

The Travelers Companies, Inc.
UnitedHealth Group Incorporated
United Technologies Corporation
Visa Inc.

Verizon Communications Inc.
Wal-Mart Stores Inc.

Exxon Mobil Corporation

[38 rows x 3 columns]

lasttrade

a9a.
128.
181.
26.
115.

volume code

1 la4s74888 AXP
2 Jalv3see AXP
3 71458488 AXP
4 24786488 AXP
= 65@9l19aa AXP
B a@a522888 AXP
7 58452988 AXP
a8 aiav7aea AXP
=l 85341488 AXP

18 12@3221ee AXP
11 B79BE3@E AXP
12 67589488 AXP
1 28948@968 KO

2 385231986 KO
3 34973708 KO
4 Ig2724788 KO
= 213626408 KO
B 281965286 KO
7 282985286 KO
8 2473548508 KO

Q 314443186 KO
18 5295415988 KO
11 265863088 KO
12 381144586 KO

[24 rows x 3 columns]

3

o

3

B o+

DO SN BEWNENESOESNOWEWNE T

Nl
SR



Join

>>> pd.merge(djidf, AKdf, on = ‘code’)

code name lasttrade volume month
AXP American Express Company 90.13 104874000 1
AXP American Express Company 90.13 76173800 2
AXP American Express Company 90.13 71488400 3
AXP American Express Company 90.13 84786400 4
AXP American Express Company 90.13 65091900 5

~ArWNEFO

19 KO The Coca-Cola Company  42.92 247854800 8
20 KO The Coca-Cola Company  42.92 314443100 9
21 KO The Coca-Cola Company  42.92 529541900 10
22 KO The Coca-Cola Company 42.92 265863000 11

23 KO The Coca-Cola Company  42.92 301144500 12
[24 rows x 5 columns]

>>> pd.merge(djidf,AKdf,on = ‘code’).drop([lasttrade’],axis = 1)

code name
AXP  American Express Company
AXP  American Express Company
AXP  American Express Company
AXP  American Express Company
AXP  American Express Company
AXP  American Express Company
AXP  American Express Company
AXP  American Express Company
AXP  American Express Company
9 AXP American Express Company
18 AXP American Express Company
11 AXP American Express Company
12 KO The Coca-Cola Company
13 KO The Coca-Cola Company
14 KO The Coca-Cola Company
15 KO The Coca-Cola Company
16 KO The Coca-Cola Company
17 KO The Coca-Cela Company
18 KO The Coca-Cola Company
19 KO The Coca-Cola Company
28 KO The Coca-Cola Company
21 KD The Coca-Cola Company
22 KD The Coca-Cola Company
23 KO The Coca-Cola Company

04 =l O W1 = W R @

[24 rows % 4 columns]

volume month
184874808
76173508
71485486
84786488
65891988
Ba5226888
£3452988
a3a77888
85341406
128822108 18
67986308 11
67589408 12
28948a%88 1
385231988 2
34046737688 3
382724788 4
213626480 5
B

7

8

(= I R R T B S W I

2819652880
2829852880
2478548880
3lasqqslee 9
529541968 18
2628630080 11
3@l1l4456@ 12
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on left_on right_on
suffixes copy
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if i59)

Recommend

K I RER

if expression:

expr_true_suite

SRkt + expression & 4 A
- HRIEERF TrueBHUTRIFCAZIR
. REIEEG - BRwigEH (8
. BISEES BRANTIE)

# Filename: ifpro.py

sdl=3
sd2=3
it sd1l ==sd2:

print "the square's area 1s:%d" % (sd1*sd2)




else i27]

i ik

if expression :

# Filename: elsepro.py

expr_true_suite sd1 = int(raw_input('the first side:"))
else: sd2 = int(raw_input('the second side:'))
it sd1 ==sd2:
expr_false_suite print "the square's area is:%d" %(sd1*sd2)

else:

expr _false suite .
= - print "the rectangle's area i1s:%d" %(sd1*sd2)

-« expression & 14 A

False iS 117 Y L3
%

the first side:4

- REBREIEEH the second side:4
o elseiEaAgmiH the square's area is:16

Recommend
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elif 154

Recommend

K I RER

if expression:
expr_true_suite

elif expression2:
expr2_true_suite

elif expressionN :
exprN_true_suite
else:

none_of_the_above_suite

expr2_true suite

- expression2 g Trueld
HATHIFCASER

exprN true suite

« expressionN A True

RIHATRIAADER

none of the above s
uite 2 LA LT R 4ED
i BRI TR CRBR



elif 124]

# Filename: elifpro.py

fk=="1"

print ‘circle’
elitk=="2"

print ‘'oval’
elifk=="3"

print ‘rectangle’
elifk =="4";

print ‘triangle’
else:

k =raw_input('input the index of shape:')

print 'you input the invalid number’

nput and

Output
input the index of shape:3
rectangle

nput and

Output
input the index of shape:8

you input the invalid number

Recommend
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. A
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TR AR—FIHE

Input and

0.
input the index of shape:3
the first side:3
the second side:4
the rectangle's area is:12

oot ana

O..
input the index of shape:2
oval

FHRE

# !”ename ifnestpro.py

I}Lraw input('input the index of shape:')
i ::'1I
r|nt C|rcIe

prlnt
elitk=="3"

sd1 = int(raw_input('the first side:"))

sd2 = int(raw_input(:'the second side"))

if sdl ==sd2:

I print "the square's area 1s:%d" %(sd1*sd2)
else:
prlnt "the rectangle's area is:%d" %(sd1*sd2)

fprlnt rectangle

eli

print tnangle
else:

print 'you input the invalid number




JBEl=iiak
. TERMENFTE—N0~300(EH0REL,

IsRes, RFELH "BF” . "k | #Filename: guessnuml.py
. ., _ random randint
7" & "KINT" BIRET.

x = randint(0, 300)
print
digit = input()
digit==x:
print
digit > x:
print

print

Recommend
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range()

range (start, end, step=1) - EIRE (28)

range (start, end)
range (end) - &E (FE8)

- HER—PRZAGIR

DH

£ (48E/90)
range (start, end, step=1)

>>>range(3,11,2) . AESendiVE
S g3 1)
[3,4,5,6,7,8,9,10] . ER&EstepEN1

>>> range(11)
[O, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10] . H%TStal‘ﬂE?ﬂO, step?sﬂ

Recommend
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xrange()

‘S — 3

1|:|I£ ﬁé c

RE  FZE HRLES 7

R ESBIE  EsOEmsL  >>>xrange(3,11,2) °
xrange(3, 11, 2)

PP g 71 Python 3.xH A 3 Fxrange() >>> print xrange(3,11,2)

K, Hf Frange) B L, xrange(3, 11, 2)

HAR [\{E NrangeXt %, IfH. >>> foriin xrange(3,11,2):
A, % printi

list(range(10)) & X

Recommend
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2]

while 1

while expression:

suite_to_repeat

expression

« FMHREL
- Hexpression{E N True

B #1147 suite_to repeat
(ACIEIES

>>>sumA =0

>>>j=1

>>> while j<10:
SUMA +=
j+=1

>>>sumA

45

>>> |

10




for B4R (—)

_EE ILABBHRRTR AU

for iter_var in iterable_object: - BH— 1 EUEENAIKER
suite_to_repeat - TEFEREITHER

« EREERIATNER
« String

List

Tuple

Dictionary

File

Recommend
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for &R (Z)

. FREME—iterable_object
. range(iRERTEE >>>§ = python
>>> forcins:
iterable_object print c
P
V4
t Python 3.xHprinti& £ H
h %5 Python  2.xHHiEH)
RV ek As, il in
o) I ALAE Kprint(i, end="")
n
>>> foriinrange(3}11,2):
printi,
3579
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SRR TR

. TRRREHLE=EE— N0~ 300/EIH0BEEL,
IR, RIFEEER, 5l # Filename: guessnum2.py
random randint
u EEEI:P" . ”XkT" EJ?, ”X/J\TH
ym— x = randint(0, 300)
HIRTS. count inrange(0,5):
print
digit = input()
digit ==x:
print
digit > x:
print
print
Recommend

KICERER A



Python KR RIE

B HAYBREAK, CONTINUEFIELSE
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break i&q]
«  breakiBOZIEHGIEIA, BMVTIEAZGANES

# Filename: breakpro.py

sumA =0
i=1
True:
SUMA += i Output:
i+=1 i=6,sumA=15
sumA > 10:

% (i,sumA)

Recommend
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while 1

. HH2-1002Z/8)8%

£

Output:
235711131719

232931374143
475359616771
7379838997

B flbreak

# Filename: prime.py
math sgrt
j=2
j<=100:
i=2
k= sqrt(j)
(i<=k):
j%i == 0:
=i+l
(i>k):
printj,
j+=1




for A Flbreak

. EH2-1002Z[EH9E

" # Filename: prime.py
2! math sgrt

i inrange(2,101): flag =1

k =int(sqrt(i))
Output: j in range(2,k+1):
235711131719 i%;j == 0:
232931374143 flag=0
475359616771
7379 83 8997 (

flag ):
printi,

Recommend
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o fEwhileFOfor{@IAE

continue 1E4]

0 continuelZEBIRYYER

— (ZIEHEFIEIA, EFnEANBIA
— whilef@IANF BRI 2R TTHE
— forfEBANFIMME N EB EEER
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continueiZfq]

o BEAPFEIbreak:

# Filename: breakpro.py
sumA =0
i=1
i <= 5:
SUMA += i

% (i,sumA)
i+=1

e ERFHYcontinue:

# Filename: continuepro.py
sumA =0
i=1
i <= 5:
SUMA += i
i+=1

% (i,sumA)




JsEFis% (BIEMIE, IEEIEXER)

. TRRREHLE=EE— N0~ 300/EIH0BEEL,
BERSE, armRACEE | e sy
RY, MEFEFRFALRTIIR sy

(go=="y):
HER, MRBELEH "AKXT" print
digi_t = input()
B AT BRI, NSRS digt ==
IR LURH, digit > x:
print
pr'int
print
go =raw_input()
print go
pr.int
Recommend
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fEhagelseigal

- EFFRelse:

— HNEREERCADI e
breakh-£21E, Bk > forin range(1,10)
HHABER '

_ IEEEEEER, N print
HiTelserh{LFa ’
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HEX HZIRIENE

def function_name([arguments]):
"optional documentation string"

function_suite

>>> dlef addMe2Me(x):
‘apply operation + to argument'
return (x+x)

Recommend
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HEXHZIAYER
- RERNERSEER, —XIMES
- ESZARRETHINSE
- EMESESH, INESHTALLE

>>>addMe2Me(3.7)

7.4
>>>addMe2Me() >>>addMe2Me(5)
Traceback (most recent call last): 10

File "<pyshell#6>", line 1, in <module> >>> addMeZM(le(
addMe2Me() 'PythonPython

TypeError: addMe2Me() takes exactly 1 argument (O given)
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BEX HE]

o HH1-1002Z18)8Y # Filename: prime.py
from math import sqrt
%’ﬁ& defisprime(x):
if x==1:
return False
Output: k = int(sqrt(x))
235711131719 forjinrange(2,k+1): 5iPython2.xtti—#f,
232931374143 T x%j==0: A m;r]_n'a”r\ﬁ;%%%ﬁ
475359616771 return False B B T
7379 83 8997 return True %.py 1t
't name__=="" _main__":
foriinrange(2,101):
Fisprime(i):
printi,
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MASE (—)
- EEISEEIE—MEOAE, MBRWERAE, ERMENTR, Bils
HITREE TR

>>> f(x = True):

X:

print
print

>>> ()

X is a correct word

OK

>>> f(False)

OK
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AMIASE (Z)

BOASEHIEA LK

210N
>

>>> def f(x, y=True):
""x and y both correct words or not
ify:

print x, 'and y both correct '

print x, 'is OK'

>>> f (68)

68 and y both correct

68 is OK

>>> f(68,False)

68 is OK




FAAEE (2)
- RASHRBENETSHTIRNRE

f(y = True, x):

y:
print x,
print x,

SyntaxError: non-default argument follows default argument
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- REFSHEILLEA
BB ERZHEX
PEH, RITHES
SR FPHSHNF
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>>> def f(x, y):

y:
print X,
print x,
>>> f(68,False)
68 is OK
>>> f(y = False,x = 68)
68 is OK

>>> f(y = False,68)
SyntaxError: non-keyword arg after keyword arg
>>> f(x = 68, False)
SyntaxError: non-keyword arg after keyword arg



[ EAEE S

+ RERILAMGRSE—HEIBE R I EREN
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>>> addMe2Me(x):
(x+x)
>>> self(f, y):
print f(y)
>>> self(addMe2Me, 2.2)
4.4



lambdaif£q

>>> addMe2Me(x):

(X+X) >>> 1 = X:X+X
>>> addMe2Me(5) ;;> r(5)

10
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lamdaif£q

def my_add( ) : return x +y

[ L]

lambda : X +Yy
my add = lambda : X +Yy

>>> my_add(3, 5)
8
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%!

ERERARREG RT3 5 @

ERRERNITEBHENTEEZZ—
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fiEEAFN Y
. BANREGHREL, ELLBIE0EY

n==0orn =

- BHNRIEERES, BNSERARE, Ea7ilER

# the nth Fibonaccinumber

fib(n): # the nth Fibonaccinumber
a,b=0,1 fib(n):
count=1 n==0o0rn==1:
count <n: n
a,b=b,a+b .
count = count +1 : _ .
print a (fib(n—1) + fib(n—2))

Recommend
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|
return return
|
return
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* EBIFRYAAT

RARBRH
# 03
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c RIS

= 1MEREA. B, CERE
—i5¢t, BICE6ARTM
ASTBENEIBE b, TBERSLS
B FHURN:
(1) ERAILUEAEA, B
EUCHSEEROST b
(2) SBRREEH—ER
(3) FEARSIERRERE—
BB A
pd
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ialE

# Filename: Hanoi.py
hanoi(a,b,c,n):
n==1:
printa,->',c

hanoi(a,c,b,n-1)
printa,->, C
hanoi(b,a,c,n-1)

hanoi('2','b",'c',4)

F’

L OO TCTL O O VT L

utpu

->b
>cC
> C
->b
->a
->b
->b
>C
> C
->a
->a
> C
->b
>cC
->C
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FE(FRLkL
. 2REE

- EERRE

# Filename: global.py

global_str = >>>foo()
f00(): 'helloworld’
local_str =

global str + local str
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- EREENFPEERE—I2F

Recommend

KICERER A

# Filename: samename.py
a=3
f():
a=5
printa ** 2




o FEREAIT?

# Filename: scopeofvar.py
f(x):
printa
a=5

orint a +x UnboundLocalError: local variable 'a’

referenced before assignment

a=3
f(8)

Recommend

KICERER A



globaliEf]
+ globaliEa@EA£EZE

# Filename: scopeofvar.py
f(x): Output:
a 3

print a

a=>5 ;3

print a +x
a=3
f(8)

a
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